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2.5 - Proofs About Angle Pairs and Segments (Part 2)

For Exercises 1-8, find each lettered angle measure without using a protractor.

1

4)

For #7-12, tell whether each statement is always (A), sometimes (S), or never (N) true.
7) The sum of the measures of two acute angles equals the measure of an obtuse angle. !5 l z0°#20° = y0°

8) If LXAY and ZPAQ are vertical angles, then either X, 4, and P or X, 4, and Q are colli&ear. @

qle +9q1° =182

&

9) The sum of the measures of two obtuse angles equals the measure of an obtuse‘rﬁz R
N

ofe is 90°.

10) The difference between the measures of the supplement and the complement of

> NN g E]

11) If two angles form a linear pair, then they are complementary.

12) If a statement is true, then its converse is true. D

B

For # 13-16, fill in each blank to make a true statement.

13) If one angle of a linear pair is obtuse, then the other is ac 0716

14)If £A = ZB and the supplement of B has measure 22°, then mZA4 = / _}’/ 2
0
15)If £P is aright angle and ZP and ZQ form a linear pair, then mZQ is ?0

16)If £S and £7 are complementary and £7 and ZU are supplementary, then ZU is a(n)

Y >t angle.




Find the value of each variable and each angle. SHOW ALL ALGEBRAIC WORK!

17)

3448 =5x-20

28 =27x%

el 2, phyin
fﬂ:-/& =/50
5//0 %? = /20

70 %ﬁ = /50

y:é;D
[7%]

19) Given: Z1= 43

18)

2% + %9 =/80
zﬂf%(wj%/o):/dp

5 D /—9 = /B0

—> Zﬂﬂ*? =/80
= -4680

ol Sl

. -500

A

Prove: £6= /44
Statement Reasons
I Z1=23 Guern
2. /326 Vertical Drsles 7R
5. s} '—-_\-’L_é Transitive Property "
4. L1=24 Vechd Hrales  7A.
5. nZL6=24

Subshhim f/ Jransi ire /?;wj



20)  Given: ZABD is aright angle C &
ZCBE is aright angle

Prove: ZABC = ZDBE D
B
Statement Reasons
1. ZABD is aright angle i
ZCBE is aright angle oen
2. ZABC and ZCBD are complementary Pcvf 07[ . éaw 472&;
4
3. ZDBE and ZCBD are complementary DC‘J[ Oﬁ fow;ﬂ %
4. . /ABC = /DBE Lon /am/m/ W/&m/%é Aearer2r



